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Candidate, Signature of Candidate, Date of Exam., in Black
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(b) On Answer Sheet fill in your Roll No., Question Booklot Set
and Centre Code etc. by darkening corresponding

* circle O with Black Ball Point Pen.

(c) On Answer Sheet only the answers to questions are to be
marked. The instructions for this are available on the back
cover page of this Question Booklet.

3. Optical Mark Reader (OMR) machine prepares the result by reading
the entries made in the circles O with the Black Ball Point Pen
on the Answer Sheet, hence the candidates must be extremely
careful in marking these entries and must not commit errors.

4. Please do not write/mark on Answer Sheet anything extra excopt
what is asked for.

5. USE OF ANY CALCULATOR, LOG TABLES, MOBILE PHONE
ETC. IS PROHIBITED.

6. Rough work should be done on the blank pages or in the space
provided for this on each page of this Question Booklet. Extra
paper will not be supplied. =

7. If there is any sort of mistakes/discrepancy (In Hindi or English
Version of the question) either of printing or of factual nature
then regarding this Commission's decision will be final.

(For instructions regarding marking the answers please see the
back cover page of this Question Booklet)
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Note : |

1. This question paper has 100 questions. Each question carries 2 marks.

2. Read carefully instructions regarding method of answering questions given on the last
page and indicate your answers on the Answer-Sheet provided.

3. Use of any type of calculator or log table and Mobile Phone is prohibited.
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Read the given passage and answer the
questions that follow :

Innovative Textiles Pvt. Ltd., run by two
brothers Krishna and Rajan, is a Raipur
based Chattisghari Silk Garment expor
company. It was set up in 2001 by Krishna,
who has a deep knowledge of designing and
manufacturing silk garments. Rajan joined the
company in 2010 after completing hisM.B.A,
Krishna was responsible for designing and
production of the garments and Rajan for
sales and liaisoning with the foreign
importers. Personnel management, however,
was jointly looked after by them. Since the
inception of the company, Krishna had
worked very hard to ensure its growth. He
rewarded his committed workers and had
even friendly relations with many such
workers: However, he was intolerant to any
carelessness, demand for salary hike or
bonus demand; and would take no time in
firing such workers even if they happened to
be very expert and committed ones. Rajan,
on the contrary, would never befriend his
employees but would give them their due. He
would attentively listen to their suggestions,
demands and even criticism. He believes in
setting high goals for his employees and
getting them accomplished by rewarding and

~ motivating them.

In view of the increasing demand from the
importers, Rajan wanted to reemploy many
expert weavers fired by Krishna as to increase
production and ensure quality, but it was a
very tough task to convince Krishna. Though |
Krishna somehow agreed to take them back, |
yet he could not digest the move. He would
often express his feelings by speaking |
sarcastically, bumping his hand on table, |
raising his eyebrows or getting sulk, which
gradually made the atmosphere quite tense
for the partners as well workers finally
resulting in poor production. Rajan starts:

>
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c) ®18 ofi FrfaTd T w2

pondering over whether to continue with
Krishna or to part with him, and set up a new
company. However, in view of Krishna’s
expertise in the field of garments as well as
his contribution to the company, Rajan
decides to take a chance and negotiate a deal
with Krishna. Accordingly, both of them
decide to have fifty percent share each and
Krishna is made in charge of designing and
quality control. For production and personnel
management they appoint a team of
managers led by Vivek, an experienced
M.B.A. Rajan confines himself to sales and
liaisoning. Krishna feels satisfied with the
deal, so does Rajan. The workers, under the
leadership of Vivek, start working as a
motivated and result oriented team. Why not
so, apart from a congenial atmosphere now
they have been assured performance cum
profit based incentive in addition to their

salary.

1. An employer with good interpersonal
skills has relations with
his employees.

a) Family

b) Very intimate

c) Professional

d) Unfriendly-

e) None of the above

2. If you were Krishna, how would you
react to your employees’ carelessness
or salary/bonus hike ? |

a) Fire them immediately

b) Overlook their carelessness and
welcome their demands

c¢) Take no action

d) Take any action after looking into

A G e & awe R AR R Aol o the matter with open mind
e) I § FIE TE e) None of the above
CGP-16 - 02 Page No. 5 Set-A
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3. We can achieve work targets by
| a) Motivation
b) Reward/punishment
c) Monitoring
d) All of the above

e) None of the above

" 4. Rajan’s habit of not befriending his

employees but giving them their due i
a) Professional approach
b) Unprofessional approach .
c¢) Whimsical approach |
'd) Rude approach N
e) None of fhe above
5. Which of the following does not fall
under interpersonal skills ?
a) Non-verbal communication
b) Listening skills
c) Decision making
d) Problem solving

e) None of 'the above

6. Who of the following demonstrates ¢
excellent interpersonal skills ?

a) FHA® Y a) Workers
b) b) Krishna
o TeH ¥ -c) Rajan
| d) IR afi . d) All of the above
e) ITUTd § g e " e) None of the above
CGP — 16— 02 Page No. 6 Sah
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2 110 |17
32|28 |23
35|37 (7

a) 34
b) 36
c) 38

d) 40
e) T ¥ = e
KB T e o 1 AR A

g8 < 3T 3 et ), @ e A ag &
I e R 7

a) IW B
) wEm
o)

'd)_,'af‘am—trfs%u »

AFiaaE g

0. Pt o 3 ot wem 2

7. The missing number in the following
table is

2 (10|17

p—

32128 |23
35 (37|72

a) 34
b) 36
c) 38
d) 40
e) None of the§e
8. The time by my watch is quarter past

twelve. If the hour hand points to the
east what is the direction opposite to

the minute hand ? -
. a) North
. '4 g
b) West s
c) South W

d) South-West

e) None of these

9. The missing number in the following

series is
1,2,4,9, , 64, 186 .
Lo A 1,2,4,9 64, 186
a) 27 LR I B [ | )
a) 27
b) 25 )
b) 25
c) 23
c) 23
d) 2
) 21 d) 21
©) ¥ A ¢ 7 e) None of these
. (]
CGP-16+02% * qu(‘;”: Page No. 7 , Set-A
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a) 1042 .
b) 12 .
c) 13,

A 147
e) T § I T

1. 53 R T % wh 5 wew )

Eﬂahﬁfmﬁmm%aﬂty:m 125
TS W8 e e s 21 fen @
heTeh! ATt T Y e
L ay27

"b) 54-

c) 36

d) 8

e) T & =1 T

12, YH g& 11 % el ¥ 39 T Al i
T, R e T we o g, 3

10. Aladder 10 mlong Is placed in a streg
and reaches a window 8 m high of a
house keeping the foot of 1he ladder in
the same position, the ladder is turned
and reaches the window 6 m high on

an opposite house. The breadth of the
street is

a) 10v2 m
b) 12m

c) 13m
d) 14m

e) None of these

11, Allthe six faces of a cube of edge 5cm
have been painted red and then it is cut
into 125 unit cubes. The number of
cubes having colourless faces is

a) 27 2 -9
b) 54 ‘i— g E%\
c) 36 T e o
%4 Q
d) 8 (YR E
q%

e) None of these 7, o

12. With the data of Q. No. 11, the number
of unit cubes having only one face

a) 27 coloured is
_b) 54 2 2
c) 36 b) 54
d) 8 c) 36
. d) 8
o) ¥ 3 =R e) None of these
CGP-16-02 5 - Page No. 8 \ 0. Set-A
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In an examination 80% of the
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13. @ e 3 80% Infieam ieh 3 3l g 13 , :
70% Tfera T 10% 3 aF1 gt ﬂ’ candidates passed in English, 70% in
Y % failed in both these
T BT AR 144 IfieaR =1 2R Ry Maths but 10% faile .
3 3l ®U, o Sefean 3:". e subjects. If 144 candidates passed in
T &l g1 g ot both these subjects, the total number
a) 420 of candidates was s
b) 240 a) 420 3:‘,55 <
c) 402 b) 240 BT
d) 204 c) 402 T
o) T A d) 204
) Sy 7 e) None of these
14, T STgem 3 e Heand § 14. The missing numbers in the following
2,3,57,__,__,17 sequence 2,3,5,7, _, _, 17 are
a) 9,18 ¥ a) 9,13
_brit, 13 . b) 11, 13
c) 13,15 % c) 13,15
d) 11,15 d) 11,15
e) 3 B+ T e) None of these
15, Fefafad srgwm 15. The missing number in the following
1,2,3,1,4,9,1, 16,_@311@1% sequence 1,2,3,1,4,9,1,16, _is
b) 49 b) 49
c) 64 c) 64
781 d) 81
e) T A B T e) None of these
16. i MSA-TNFym 7 AT 4S8l A, B 16. Seven persbns are sitting at a dining
FEM AN F CFIR D & = table. A is facing B who is to the left of
R C EFaR AN F, D& a1 AT R Candrightof D. Cistothe leftof E. F is
E qu G WER 39 fifaaf 9ea @ 8 tothe left of D. If E and G exchange their
quT B9 D oft wrew arae fifeal aee od seatsand D and B _ialso exchange their
FNWES sRAFH AR ? seats, then who is sitting to the left of E ?
AT A a) A e 2. O/n
b) B b) B e
d) D d D A~ @)/E
e) 31 ¥ HIE T e) None of these
CGP—16~02~ ‘ ‘ H Page NO. 9
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w @ 958 — 788 ) 4 3 sy for Sy 1 ke R 17.  988_768js divided by 4. The remainderis
a) 3 a) 3
A2 b) 2
C), 1 c) 1
¢) ¥ 4 ¢ e) None of these
18. 9, 39 9 T W& A freft wlean # Q1 2= 18. Mush, Kush and Bush each took part
fRuy ™ AR A 601 24 3iF in two tests in some examination. Mush
T TR 40 1 } 32 i g fyu F03 got 24 marks out of 60 in the first test
AT 705 35 U 60 A} 54 3% and 32 out of 40 in the second test. Kush
g fF YA de . got 35 marks out of 70 and 54 out of 60
501 Q 4? - ﬁi 950 T\Iz’é el in the two tests. Bush got 27 out of 90
e fu 2 l Aferehan 90 <0 and 45 out of 50 in the two tests. Who
' go a°\3Y got the maximum marks ?
Y - a) I M Y R = a) Mush
t,fo\“[, A le SY | Z,}\_d’b) Kush
<0 c) T o ¢) Bush .
i d) T 3 1 <A 3 d) Mush and Bush both
e) ¥ ¥ F§ 7 e) None of these
19. 1? et i qife 38 | vE wE 17 19.  Median of 15 numbers is 38. A number
I 33 ¥ aw T ) wnfedem 17 is replaced by 33. The median
a) 16 ¥ =g Sl 3 a) Will increase by 16 L E3%
b) 8 @S wmw ™\ b) Will increase by 8 S
N1 & =g swh ~ ©) Will increase by 1 A G
ATy d) Will remain the same [ g & \3
e) T A &5 T ) None of these ~ \S\:
00, Ffofad i A @ﬁ@g%m@[m: ' 20. Find the odd one out (if any) from the
L . following :
TSI, LTSRS vg'si:l AP HHIRIR S, Oxygen, Nitrogen, Hydrogen-peroxide,
3\'3, /52' S, _,,i SERIERES Hydrogen, Carbon dioxide
~ ) wTEeeH a) Hydrogen :
. ) AN - . b) Nitrogen
oY RTESISH TS ¢) Hydrogen-peroxide
d) FEA SEATHEE d) Carbon dioxide
o) i ¥ Fd = e) None of these
TG;- 16-02% -, . | ~ Page No. 1Lo 3“3 o A Set-A
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() feef i e ey o,

T S, Wi e,

S T
A |
b) TR ufirs
¢) uHt

d) TEieH e
e) T A F¥ e

22, FrafeiRe s v e 2 3 i
876, 885, 579, 696, 398
a) 579
b) 876

23. frfefiaa vl i wsche % HAER

ﬁ*@lfg“'@ O &

nutant, nescience, nutrient, neutral,
Q) negotiate

va) nutant, neutral, negotiate,
nescience, nutrient

fb) nutant, neutral, nutrient,
nescience, negotiate

¢) nescience, negotiate, nutant,
nutrient, neutral

Y

5 d) neutral, nescience, nutrient, nutant,

21. Find the odd one out (if any) from the
following :
Nitric acid, Sulphuric acid, Mercury,

Hydrochloric acid, Water
a) Mercury

b) Hydrochloric acid
c) Water

d) Nitric acid
)

e) None of these

22. |dentify the number which is different
from others in the following

876, 885, 579, 696, 398
a) 579

b) 876

c) 885

d) 398

e) None of these

23. Arrange the following words
according to the dictionary pattern.
nutant, nescience, nutrient, neutral,
negotiate

a) nutant, neutral, negotiate,
nescience, nutrient

b) nutant, neutral, nutrient,
nescience, negotiate

c) nescience, negotiate, nutant,
nutrient, neutral

d) neutral, nescience, nutrient,
nutant, negotiate

negotiate
Oy T A IS T e) none of these
CaP =18 ~02» . ~ Set-A
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24. foeht % YT § ‘her idea has merit e 24. Inacode language ‘her idea has merit’
fa lu boo ma’ ferar st 2, ment list is written as ‘fa lu boo ma’, ‘merit list
has been shown'# ‘go he Iu Kiia ja’ @ has been shown’ is written as ‘go he lu

, ki ja’, ‘name in merit list’ is written as

1%%1“:1:11 merit list %I ‘pa ya kho he’ e v i e,
‘he' fraE ﬁf‘l SRIR 7 What does ‘he’ stand for ?

a) idea a) idea

b) merit b) merit
ey list c) list

d) name d) name

e) T 4 = T e) none of these

25. IR6x7=2,3x5=55x8=07 25. f6x7=2,3x5=55x8=0,then

Z:)/S.= ? 7x5="7
T 5 a) 5
; g b) 4
e
d 0 c) 3
. d) 0
e
) 8 e e) None of these
26. WA A Ry ? 26. Furniture : Table : : Stationery : ?
a) FEfed P a) Office
b) 3d ¥ b) Chair
POAEE c) Pencil
d) 70 d) Room
e) T q =3 7 e) None of these
27. F=fafga QUi & | sHafem fifs ; 27. Arrange the following in a meaningful
i, TR order ;
- i. Plan
. &Jul
" a—m ii. Revise
!u. [T iii. Publish
v, e iv. Think
v. . sew .. . V- Write
a) v, iv, iii, ii, i a) v, iv,iii,ii,i *
b) i, ii, iii, iv, v b) i, ii, iii, iv,v
[eyiv, i, v, i, i _&Yiv, i, v, ii, iii
d) ii, i, iii, iv, v - d) i, i, iii, iv, v v
e) T8 ¥ @Is T e) None of these
CGP =16 - 02~ PageNo.12 o 2.5~ 1@ <10
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How many times in a day the hands of *

CREEEIER ) T F & Rt feen 3 a clock one straight, pointing opposite
B 7 | each other ?

a) 20 a) 20

b) 12

b) 12

/87/ i c) 24

d) 22 9 22

e) T & ¢ 7

e) None of these

29. T A= 270 ﬁ:.xﬁ.aﬁqmmwm

, 29. A man covers 270 km partly by bus and

1
1 partly by car. If he covers = of the
WRT QR 30 fraf, /o, .

distance by bus at 30 km/h and the

q Y TR T8 T 3R =1 ) = 45 speed of the car was 45 km/h, the
f.Hfi. /4. 2, A TR it W 2 average speed for the whole journey
was
3
a) 39— f&.1. /4.
S a) 39§ km/h 4o
b) 40 f& .. /9. 20%MY
) i b) 40 km/h kol e
A » 0
;)/385- .0t /4. 4 B D j
. T . ) 38= kmvh a0 "W
1 "
d) 37— f&.4. /4. 1
2 d) 37 kmh

e) T A HI§ Tl

e) None of these

30. afkA, B 25% Jifus wAmai e, A1 B, A¥ 30. If A earns 25% more than B, then B

X% W FUTAT R | X &1 TH ¢ eams x% less than A. The value of x is
a) 25 . a) 25
20 b) 20
o) 15 ¢) 15
d) 10 d) 10
e) ¥ A & T e) None of these
u 3 2
CGP-16-02» /3_3:’5, Page No. 13 MS?LA
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zIﬁ‘A:B=:3:4,B:C-—.5:6,C:D=7:8 31. IfA:B=3:4,B:C=5:6,C:D=7;3
AWA:D2 thenA:Dis
a) 64:35 a) 64:35
b) 3:8 b) 3:8
) 8:3 c) 8:3
A7 35:64 d) 35:64
/oi\/s?qﬁm‘rs'trﬁ | e) None of these
32. zn“amma‘iﬁﬁsaﬁmzoa&Aﬁ 21 32. Ifoutof 10 students 3 were of 20 years
a4 91 3 ) 22 7 ot 1 gt i ammg 3 age, 4 of 21 years and 3 of 22 years,
a) 20 T4 the average age of these is
b) 22 a) 20 years e ‘\"%\H‘&G
b) 22 years
. \o '
c) 21 years " 2
9 19 = d) 19 years —*3—? /E
" \ \
€) T § =i 7l e) None of these
33 WU, Y ot s oo, 7 xaofy | 38 If U is the spouse of Y, Z is the spouse
AT T 8, X MYswIT.- S TH of X, X and Y are sisters, S is the wife
T2, X TH W%;R,T‘cﬁlg‘:ﬁ%- of T, X is the mother of T, R is the
W, ¥ 6 i 3 R ’ daughter of T, W is daughter of Y and
L YEIFN e, Y fmd R A Pis the father of Y. Who is the mother
TAIHAR ? of R?
,a‘)/S a) S \—_\:Jjj-' @
b) T b) T @ \
d) X d) X @
e) 1 A H13 T e) None of these
34. UH T 33 & AHS & g, X A HH 34. With the data of Q. No. 33, whoiis grand
o R ? daughter of X ?
a) S a) S
o7 R B R
c) Z c) Z
d U d U
e) T | H13 T e) None of these
° Set-A
CGP - 16— 02+ | Page No. 14 )y z4+N .
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35, WE §EN 33 F AFS F W #1 U H

friw (977 36 - 39) :

Fm? fofa RAmEi@ A, B,C, DA E
ﬁﬂmmﬁ@ﬁﬁz

AD®1TEH @i B E % el 1
4. @RI D, BFHufm 3 fEf w
c, A el d 2w, @R

frefafad i 36 @39 T F Ia AR |

36. Edfra . mDR?

a) 2

b) 3

c) 4

A5

e) 3 | &3 Td

37. FRATA M e o e ?

a) A, Dddal E

b) B,Cda E
A,B aa1D

d) A, B qaaiC

e) TH @ &3 el

38. U € ufad i ferd o fam g A, me o
DL !

35. With the data of Q. No. 33, who is

father-in-law of U ?
a) P
b) Y
c) W
dT
e) None of these

Directions (Questions 36 — 39):

It is given that five cinema halls A, B, C, D
and E are situated in the following manner :

"Ais 1 km. to east of D. B is 4 km. south to E.
D‘ is 3 km. west to B. C is 2 km south to A.

Answer the following questions 36 to 39:

36. How many km. away is D from E ?
a) 2
b) 3
c) 4
d) 5
e) None of these

37. Which three cinema halls are in the
same line ?

a) A,DandE
b) B,Cand E
c) A, BandD
d) A,BandC
e) None of these

38. Of the three cinema halls lying in a
straight line which one is in the middle ?

a) B a) B
by A b) A
¢c) D
9 C o
e) 3 ¥ %3 T
L % e) None of these
CGP - 16 - 02 - - ~Page NQCE‘ SettA &
D——7" . —R
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- 39, FaH Y i s 3 7 39. Which of the two distances are equal 7

Lal AB T AC a) AB and AC

b) AB3 AD b) AB and AD

c) BCsCD ¢) BC and CD

d) ABICD . d) AB and CD

e) T & wi§ 7 e) None of these

40. w1 : Wit A9 s | 40. Statement 1 : All apples are
AT 2 . Wt I S | pineapples.
. Statement 2 : All pineapples are

e .

L | grapes. '

- AR I | ¥ Conclusion :
Il wftdmaigd | 7 ‘ . All grapes are pineapples.
; . )

e ¥ s a e g 7 G Il. All apples are grapes.

a) $ae | g ® m Which of the following is correct ?
o e w e ( @ ’ a) Only | follows

: b) Only Il follows

) 37 117 \-/ c) Both | and Il follows

d) 1 11w R d) Neither I nor Il follows

e) T A =K 7 e) None of these

41, Wi Fenff me, ﬁﬁjqﬁ?m 41,

Five students Mahendra, Jitendra,
Dharmendra, Surendra, Narendra

5 7 el A st o s X o
§q€éﬁmwﬁa%ma@ﬁ€ﬁ|gﬁa

participated in a race. Mahendra
completed the race before Jitendra but

7 s % 9 afte R @ ed A el ?rf]ter Dharm?tndre\tj.tSurgndr% cct)nl;p|feted
; e race after Jitendra but before
% | I8 9 N v W A § NTordrm.
_ayais 9 T - Inthe first position and the last position
~ are respectively
b) :R:a g Hf?a a) Dharmendra and Narendra
C) We=s & = b) Narendra and Dharmendra
d) =it 9 frag c) Mahendra and Narendra -
; d) Dharmendra and Jitendra
e) T & 1% e e) None of these
42, frafafga § ‘77 & W W S @1 38R 42. Which letter will replace ‘?’ in the
A ? 2 Y ¥ following ? :
A'O'LF%/O’U-’B A?FJOUB
P RO a) B |
o7 C b) C
C) D C) D
g E d) E
o) THA FIs T& e) None of these
CGP — 16— 02+ Page No. 16
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43. TH & UTH TH AAHR we 2 R

- . 43. Ram has a rectangular plot which has
3_00 Iﬁ; A AR G & ®, 7l T, been fenced with a 300 m long wire.
e W AT A, D e o Find the length and the breadth of the -
Jd R plot if the length is twice its width.
a) L=244.,B=12 1. a) L=24m,B=12m
by L=100 ., B = 50 =i, b) L=100m, B=50m ol L
c) L=20 #f., B =10 . c)L=20m,B=10m E:l
d)Lf601ﬁ.,B=3oxﬂ_ d) L=60m,B=30m
e) ¥ | e T e) None of these /‘Z’Q ’;S 5
e gogﬁﬁ R i n it sf 93 44. A 60 pages book has n lines per page.
v 1 HE 3 T & A If the number of lines were reduced by 3
=31 1 HEAT 10 95 S R, 94 n w1 O then the number of pages go up by 10.
am The value of n is equal to
a) 30 a) 30
, - n-3 139
b) 22 b) 22 &Pxn L
 ~ I I
c) 31 2\ c) 31 A —Fn=2)
d) 12 d) 12 P— 2\
&) T A T - €e) None of these
45. i % 18 ﬁahﬁmm%, a W 45. Seema has 18 meters of cloth. She
LSRR LTI ? [ UF gl g wants to cut it in two pieces in such a
e H 4 WA e &, 91 B gFe A way that one piece will be 4 meter
T a9 g ? longer than the other. What will be the
,af? . length of the shorter piece ?
b) 9. a) 7 meters
o b) 9 meters
o) ’ c) 2 meters
d) 8 ’ﬁ\ e d) 8 meters
e) ¥H 4 &g Tel . 8) None of these
46. AR A qa I ui AW F A E 18 2 3 46. 1f the cost of three apples and five
qﬁﬁaammmqﬁw. 14, @ U= ' mangoes is Rs. 18 and that of five
Qal =7 T B ~apples and 3 mangoes is Rs. 14, then
the cost of five apples is equal to
_ars.s
= a) Rs.5
) %10 b) Rs. 10
c) ¥4 c) Rs. 4
d) %6 d) Rs. 6
e) ¥ & I T e) None of these
CGP-16 - 02~ yo Page No. 17 : Set-A
R el T | T e Sy m,go\
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47 Tetated § g den @ 47. The missing number in the following
-
76 85 - K 78 85 78
1%(38[19 114 (§3[17 19 (65] 7 38|19 [114) (5117 119 (5] 7 11
» T X188y B\153\ 2\ 156 o 133 153 156
¥\
a) 15 “1 _ is
~ b) 17 ' a) 15
25
¢ 19 \2 b) 17
d) 11 C) 19
] NN d) 11
LB B 3

e) None of these

48, i ~ . s . .
mﬁmﬁﬁm%ﬁmﬁn W e 48. In a group of cows and hens, the

m%ﬁﬁlﬁ@%?ﬁ@é 14 370 off)| number of legs was 14 more than the
T ) He of twice of the number of heads. The
a). 5 . number of cows was
a) 5 - < g
A 7 C P, L—C&irm WM e
c) 10 ' -
910 o RN
d) 14 o 14 :
e) 38 4 # 9 )

e) None of these

49. TF "l w19 1 fadar, 1970 = g | 49. Agirl was born on September 1, 1970

mﬁaﬁqm_@_an 1| ST SR T which happened to be Tuesday. The
zﬁ]q-grm-g:i @ ‘ next birthday will be Tuesday in the
) . :} 9 - 2 year ;
a) 1975? 2~ a) 1975
b) 19771 G~ ) b) 1977
€71981 7 = c) 1981
e) ¥ ¥ HiE T Tg ~ "‘i e) None of these
KAt
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o G 50 351 % Ry iy

< & et TR 0 0 e oy o
ar 12,50,000 ® | F1 e, o, i oy
sy, T S Frsretl ot arrvaredl sper ey

50. 38 g fo3 & amum w fasreht @ wmma @
_ay 112,500

b) ¥ 25,000
¢) T 15,000
d) ¥ 18,000
e) T ¥ &g el

51. g W I@mE ArTd weiHl 6 TOHd W
e | frafi wn 2 ?

Direction regarding Q. No. 50 and 51.

The total cost of producing plastic toys is
% 2,50,000. The production cost on raw
material, labour, repairing of machines,
advertisement and electricity is shown by
the following Pie-chart.

Repeir of

50. On the basis of this Pie-chart the cost
on electricity is

a) 12,500 25 oTP \Wz
b) % 25,000 \ 2300

¢) ¥ 15,000

d) % 18,000

e) None of these

51. How much the production cost on
advertisement is less than that on
repairing of machines ? {

25,000
:) Taa0 a) % 25,000
) 587500 b) ¥ 37,500
c) % 10,000 ¢) 10,000
_df 212,500 d) % 12,500
e) T q &I$ T e) None of these
CGP - 16 - 02 Wy Page No. 19 28’()7093‘7\1-@- | Set-A
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S2. X, WHhiaga? |Y, Ve fdad | X, z &
Fesafs z Y A fafad | v, w s
R I W, Y A e voR s 2 7
a) g1 (321) vt
b) T T
c) Tl k2
B g eRINE :
e) 3T @ #1570

53. SWﬁ,waﬂ(mﬁﬁﬁmﬁam_
40 I oft | e 3 STl AT AT AU
1:4‘Elﬁfﬂﬁﬁﬁmﬁﬁ:ﬁ%?

a) 389y

b) 42 3¢

C) 43

d) 36 a4
B q o

40

|
\*
!
V)

52. X is sister of W. Y is father of V. X is
daughter of Z who is married toY.Vig
brother of W. How is W related to Y 2

a) Data inadequate %'\‘E
b) Son M- —\W

c) Daughter
d) Son or daughter

e) None of these
53. 5 years ago, the combined age of
~ Suresh and his mother was 40 years,
Now the ratio of their agesis 1:4. How
old is the mother of Suresh ?

a)38years S A
b) 42years ™M~ \|
C) 43years . 45 _ X Ne-T:

e) None of these ~ = \O

> = _Q.CﬂV'.PREHENS'_%‘.' &y o 54. First three letters of the word
A& T Tere Ryt vy ® qu T fRm ‘COMPREHENSION’ are reversed and
A1 31 e a3 ST A a1 o1 g then last three letters are added ang
aaﬁaﬁwaﬂmﬁmm—g e then the remaining letters are reversed
T § g g 3?&11‘837!1 2 ’ and added, then which letter will be
a) N i exactly in the middle ?
i a) N
41'S b)s Mo CToNSEnT
c) E ) E
d O d) O
e) 31 Q #1E e e) None of these
55. fefafd # 7’ % wm w o AR 55. Which letter will appear in place of ‘7"
?7 o in the following ?
Lo ¢
D.F, 17N, P D,F,1,2,N, P
a) J G £ 9 =\ylh a) J
b) K k_j'_*z "(‘"%; b) K
c) L , c)L
AT M d) M
e) T Q@ FI$ 7 e) None of these
CGP-16-02= Page No. 20 Set-A
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56. frefefad fell & =5 a1 o, fret fram &
Fid, A = R 7

H F,A NEK

57. R @& TEfig gm e R

féer® : fhew (7' wer-gm 2) ’

I U gm & R Rem

7 3 T
. T« F, T ; e,

PG qﬁm@ﬁ aﬁﬁiﬁmﬂ
g M B ( ’Jﬁ‘q’ﬁé%)sh%mgmﬁ?
AT 9 Y I9Tian 21
a) faar ; wfa

b) ITH : TEE

c) ﬁ'(f\:ﬁﬁﬂﬂ

d) i : =8

sy (v 58 - 60) :

fo R 5 ol refRat arem-arem g i € |
W, Y@@ o ad 9l R | e, {E A

A 2 | TEh, e @ e ad B 2 | g, el
AN R @, T A AT TR |

58. Fm=fefga o =W @1 9@ %9 39 @ gad
FMFEIMFTFAR?

a) W, Y@, &, T, fig
o7 g, v, e, Y,
¢) g, ¥, T, T, e
d) M, 1, T, T, g

56.

57.

Which one of the following figures is-
different from others in accordance with
some rule ?

P <\

LEANES
z)f{w s 1y e
HE ~2 '\
)K 2 cAVYy s
—_——

) None of these

Below is given a related pair of words :
Director : Film (This is question pair)
The above pair is followed by the
pairs given below :

Poem : Poet, Novel : Writer,
Editor : Magazine, Chair : Carpenter,
Wheat: Farmer.
Choose the pair (if any) that best
expresses the relationship similar to
the question pair.

a) Poem: Poet

b) Novel : Writer

¢) Wheat : Farmer.

d) Chair : Carpenter

e) None of these

Direction (Que. 58 — 60) :

Itis given that all the girls are of the different
ages and Renu is one year older than
Rekha. Rehana is two years younger to
Renu. Rakhi is one year younger to
Rehana. Ritu is two years younger than
Rakhi. Rekha is two years older than
Rakhi. '

58. Which of the following is the order from

the youngest to the oldest ?
a) Renu, Rekha, Rehana, Rakhi, Ritu
b) Ritu, Rakhi, Rehana, Rekha, Renu
c) Ritu, Rekha, Rakhi, Renu, Rehana
d) Rehana, Renu, Rekha, Rakhi, Ritu

e) T Q F T e). None of these
CGP-16-02= . e Page No. 21 Set-A
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‘f”’mmumn 0 OO
509, ﬁ?ﬁﬂ U@:I Eﬁ W 3"
. T B gen R |
Il e = g 1§ 35 % TR M

v

ln.%@-qﬁsgﬁggﬂﬁl'
‘a) e o]

", . b) F@NEAR
-C) %aw Il g |

.f\P

,d)/allmél

e) ¥ q =ig 7t

60. T R weht ¥y, wiw el ¥ W 60.
Al & o @ | e ow, A d, |
A TR | =T R | 3l 3y % fwg
Feffen 39 S wrwm s a2 7

L ®fe, 8 %9 3 ot Y @ ol
SWH B

I #, Tl & 9 e Ry @ @ 81~
. =, T @ o aor vt A s 2y Y
V. ¥, tt A S e asd

-

'-?O

-

A ad Il

b) Faaill

c) &ad IV

d) %hadl |

e) T ° i3 el
61. qa;gmaﬂ#ﬁaumgq,%zﬁn%mﬁ 61.

gl T ' & o | €)@
9oy, Hieen § fFe v grerfg 2 7

A amrE

b) g7
c) i
d) 9§

e) T T3 & Q

=)

29,

The combined age of Renu and Rakhi s
l. An odd number.

l. Equal to the combined age of
Rekha and Rehana.

lll. Twice the age of Rekha.
a) Only lis true

b) Only Il is true

c) Only lllis true

d) land Il are true

e) None of these

One more girl Ruchi joins the group of
5 girls. Her age, in complete years |s
different from other girls. Which of the
following statements about her age
could be true ?
I. Ruchi is younger than Renu but
older than Rekha.

Il. Ruchi is younger than Rakhl but
older than Ritu.

lIl.- Ruchi is younger than Rehana and
older than Rakhi.

IV. Ruchi is younger than Rakhi and
older than Renu.

a) Onlyll

b) Only il

c) Only IV

d) Only |

e) None of these

Introducing a man, a woman said, “his
father-in-law's father is my father-in-

" law.” How the man is related to the

woman ?

a) Son-in-law
b) Son

c) Mother

d) Mother-in-law
-€) None of these

CGP - 16 - 02

O+

B O’

Page No. 22

Set-A

%ﬂ%‘



00 U S
e (w7 62 - 66)
Frferfer gemett 1 storm w v F IW
difsra
i T FHR 99 0 3113 = E,F,G,

H 1L J Ko Lgw semoa 43 8
T WSS Al |

i. O wieen T E am Yy o o %
- T 4§ | )

i J, LI91F ¥ i,

iv. G, IdFHdg iy |

V.. J S e H Ay

vi. Afeen wem E % 9 qo8 wewy F

d3TR |
vii. F@(I%aﬁaﬁ@qﬁmm%l

62. =AW I wRen wem § 7

a) E, Haly
b) E, G3lrd P (~
c) G, Haflty c,/\\f\\
d) F,G 3ty
FTHIAFE T -

63. J& e fiefofea i a s maad ?

a) J O At 9o @
TV E e
c) J @l Ter FRumor 7 o < weren
d) J i feafa 7 qra it sn gt
e) ¥ A = T

64, TR i I EqHF T dard ?

Direction (Question 62 - 66) :

Study the following informations to answer the
questions given below :

i. EightpersonsE,F,G,H,1,J,Kand
L are seated around a square
table, two on each side.

ii. There are three lady members and
they are not seated next to each
other.

iii. Jis between L and F.
iv. Gisbetween!landF.

v. H, alady member, is second to the
left of J. ‘

vi. F, a male member is seated
opposite to E, a lady member.

vii. There is a lady between F and .

62.  Who among the following are the lady
members ?

a) E,Hand J
b) E,Gand J
c) G,Hand J
d) F,GandJ

e) None of these

63.  Which of the following is true about J ?
a) J is female member
b) Jis a male member
c) Sexof J cannot be determined
d) Position of J cannot be determined |
e) None of these

64. Who among the following is seated

a) G between Eand H ? i i
b) J a) G | G
b) J - b
° Fi c) F ~ ®_
A K d) K e X
e) ¥ @ &1 7 e) None of these
—16- 02~ h) 1= o ;
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N W
g JHEIAE TR P A
T s P FRIRTMIMATIAR? | 65 Whoamong the following is immediate
leftof F ?
a) | a) I
A b) J
c) L c) L
d) 3 e foba s gt d) Cannot be determined
) T A =¥ 7 e) None of these
66. K3 F 3 ofiw frey sufr 33 & 7 66. How many persons are seated between
‘ KandF?
a) 1 a) 1
b) 2 b) 2
L c) 3
d) S & foan s g d) Cannot be determined
©) T A A e) None of these
67. it wmer 3007, /2.8 | Retee | 67. ;I;I:e s;)leed of sound vs;]aves ithOO m/s;i
R T fay ¢ a place a person hears the soun
T e Trraﬁ; 2:: ;ﬁw:; m; produced after 5 seconds while another
. 3 o : 6 Fvs : hears the same sound after 6 seconds,
= | W st & o it The maximum and minimum distances
T 7w it R + between the tWo persons are
a) 1.8 .., 0.15 R, " a) 1.8km, 0.15 km
b) 2.2 &1, 0.20 fr.1ht. b) 2.2 km, 0.20 km
c) 2.8 fhft., 0.25 f.af, c) 2.8km, 0.25 km
Ay 3.3 Tt 0.3 fh.af. d) 3.3km, 0.3 km
€) ¥TH 1 g 7 e) None of these
68. fimforfaa frst =1 st w2 . _| 88 The ascending order of the following
2 4 3 1 go , (M3, E 24 3 1 )
P e L=, [ P fractions =, =, = _ s
3’5’82 \22 |20 ¢ (W 3582
2 4 3 1 2
a) 3’58’2 a) —.i,g,l
4 3'5'8’ 2
2 413 2 4 13
P3352% 9352%
Jiz213 4213
5'3'2'8 95 332%
8124 g 2124
8235 ) 5235
e) ¥ & g e e) None of these
CGP - 16 - 02 , Page No. 24 !
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1 1
d—xy_ _
69. af xxy7—9,a‘1xaﬂty%m§ 69.

a) x=2,y=5
b) x=5,y=2
C) x=2,y=9
d x=7,y=1

,emﬁhﬂéaﬁ

70. w1 v forg Ty S et e 70
e | '

MR 4532=17
8372=027

qW6247=2

a) X,+,—;9

b) +lxs—;7

C) =X, +:5
'd) +—=%;20
e) ¥ & =K e
7. @& A & wH Aéﬁgﬁm Ba | 71
S R | 96 3t gft 50 A /4. A 9w

2 7o 919 et 70 6 A /. DS A
A1 2 | et A ) 3ffe =T B

\&, -

My LT +)
”:}—

’1&.

1 1
If 4;xy;=9, then the values of

x and y are given by
a) x=2,y=5

. b) x=5,y=2

c) x=2,y=9
d x=7,y=1
e) None of these

Assign correct mathematical signs and
find the missing figure.

It 4532=17
8372=27

‘then6 24 7 = ?

-8 X, +,—;9
‘lb).A+,>‘<,—;7
C) - X,+;5
d) +-,%;20

e) None of these

A man goes from a place A to another
place B. He covers half a distance ata
speed of 50 km/h and other half at a
speed of 70 km/h. His average speed
for the whole journey is

@) 8o . /o 2 %@2 a) 56 kmh
b) 54 f&%.f. /4. /)}T{’ b) 54 kmh
c) 60w, /4. /6’ 2/ ¢) 60 kmvh
d) 65 f .. /4. d) 65km/h
A T AT T e) None of these
CGP -16-02~ Page No. 25 Set-A
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72. 3% 123 W1 987 ®) au1 426 HE 684 72. 11123 stands for 987 and 426 for 684,
% wefifa wai R, A 234 wefifa weh then 234 stands for
a) 785 a) 785
b) 586 %! b) 586
c) 768 @) c) 768
d) 876 % d) 876
e) ¥ A F e e) None of these
73. WA ¥ 6 F faoda A i 2 7 73. Which number in the die is
opposite 6 7
P 3 '
6 1 2 3
3 5 6 1
3 . O
a) 1
b)) p g a) 1
p 'y b) 4
M = \’B\L'/ c) 5
d) 2 g 2
e) ¥4 q WIS 7 e) None of these
74'Hﬁ2+4+6+8+"‘+80=3'a5'8?ﬂ 74. f2+4+6+8+...+80=S,thenthe
= 2 . |
value of S is
a) 1460 a) 1460
b) 1580 b) 1580
] 1640 c) 1640
d) 1680 d) 1680
e) 374 § I3 el e) None of these
75. Frafafiga 4 aba = @ifte 75.  Find the odd one out in the following
17,19, 29, 31, 39, 41 17,19, 29, 31, 39, 41
a) 29 a) 29
b) 31 b) 31
c) 39 c) 39
d) 41 d) 41
e) T @ 1S el e) None of these
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76. MWﬁ,mmﬁ,W,
HRI A 3H & el g # de
SWY: 40, 50 9 60 | 37 vTHS I 9R-
amta | wefifa frm sman @1 & g e
qTeft gHTSAT I T AT W F
F R ?

a) 150°

b) 120°

c) 100°

d) 50°

e) T ¥ &I €

77. 20 7 @ 60 T4 F Y F =ufwAl @
TR e 76 TR 2

ag 60w 50 40 B0w 20w
GED GEY GE3 GED | GE
wfeai 60 50 40 30 20
h v
309 35 9 % ey % uffl 1w
e g 7
a) 309 35 & 0y
b) 10
c) &
d) fruif Tl & s
e) T & FI{ 7E

78. Trfafaa aoft 4 @@ ‘47 frem €, s
TR 7' g gt 3 TR ?
9876543217425867461234742356

76. In a city, there were 40 accidents,
50 accidents and 60 accidents in a time
period involving motorcycles, cars and
trucks respectively. This data is
represented by Pie diagram. What is
the central angle of the part
representing accidents by cars ?

a) 150°
b) 120°
c) 100°
d) 50°
e) None of these

77. Frequency distribution of the persons
between the age group 20 years and
60 years is given as follows :

Age Upto60 Upto50 Upto40 Upto30 Upto 20
yrs yIs yrs yrs yrs

No.of 60 50 40 30 20
Persons

What is the number of persons within
the age group 30 and 35 years ?

a) Between 30 and 35

b) 10

C)5

d) Cannot be determined

e) None of these

78. How many such ‘4’ are there in the
following series, which is immediately

preceded by ‘7' but not immediately
followed by ‘3’ ?

74308744 9876543217425867461234742356
a) 2 74308744 |
b) 3 a) 2
c) 4 b) 3
d 5 c) 4
o) ¥ 3 P o
e) None of these
CGP-16-02=
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79. ¥ ‘DELHI' areri & 0@ frm wse 79.

(3relut 2 avefefi) s s e 8 < aTeR

a) 5
b) 6
c) 12

d) 24

e) ¥ @ J15 el

_X l
80. IR 1.5x = .05y, 7 z—&aﬂmw%? 80.

2

) .

©
N3]

35

O

) .

o
(6}

3
) .73
) .635

e) ¥ ¥ =g 7

\'

o
o

Qo
o

-81 %snﬁ%maqﬁzs%amv%aw 81.

I SISIT| ST Y S 1 10% S TR

1 ST | AN Y 5% A A 2315, F

T FO 39 R | e g whd

’ﬁa@mmq\mw% ?
a) 180%.
b) 160%.
c) 140%.
d) 120%.

e) 3 9 &iE Tl

82. 4.867M,5.697™,5.127M, 4.71 7MW, 82.

4.94 T 3R 5,04 T 1 3Ed 2

How many words (with meaning or
without meaning) can be formed with

" the letters of the word ‘DELHI’ which

begin with the letter ‘E’ ?
a) 5
b) 6
c) 12
d) 24
e) None of these
If 1.5x = .05y, then what is the value of
y —X
Y+ X
a) .935
b) .835
) .735

) .635
e) None of these

?

Q O

Kishan sells an article to Kamal at a
profit of 26%. Kamal sells it to Kamlesh
at a profit of 10% and Kamlesh sells it
for Rs. 231 to Karunesh to get a gain of
5%. What is the cost price at which

- Kishan bought the article ?

a) Rs. 180
b) Rs. 160
c) Rs. 140
d) Rs. 120

e) None of these

The average of 4.86 gm; 5.69 gm,
5.12gm,4.71 gm, 4.94gmand5.04 gmis

a) 4.697M a) 4.69gm
b) 4.59T™m b) 4.59 gm
c) 4.96TH c) 4.96 gm
d) 4.467H d) 4.46 gm
e) T ¥ &1 & e) None of these
CGP-16-02= Page No. 28 Set-A
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83. ¥4 fa il i - & ' :
FH fir 3 TN W 4 Sz A 2, dl 83. When the numerator of a fraction is
2 increased by 4, the fraction increases
I = =
3ﬁ3@?773ﬂ?ﬁ% I fammane? 2
by 3 What is the denominator of the
a) 5
fraction ?
b) 3
a) 5
c) 4 b) 3
d) 2 c) 4
6) T A F 7] d 2
e) None of these
3/4
84. (16)™" 1w 3 84. Value of (16)¥4is
a) 12 a) 12
b) 16 b) 16
c) 48 c) 48
d) 8 d) 8
e) ¥ q ﬁﬁ TE e) None of these
85. afe 3 vigaTt i I9r 7 IR 1: 39 85. If the heights of two cones are in the
T I = 359 dT ratio of 1 : 3 and their diameters are in
. the ratio 3 : 5 ; the ratio of their volumes
TTGHI 1 AT BT )
will be
) 8:85 a) 3:25
b) 9:16 b) 9:16
c) 8:25 c) 8:25
d) 9:25 d) 9:25
6) T & I5 Tl e) None of these
86. T A 3: 40 T W ULt i °Ave aTE e 86. At3:40 hrsthe hour hand and the minute
aen firre areht g & g v g hand of a clock form an angle of
a) 1100 a) 1100
b) 120° . b) 120°
C) 140° C) 140°
e) T QT T e) None of these
CGP -16 - 02 Page No. 29 Set-A
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0D 50 O O O
‘o i S & 38 T g R

I a2 3
a) faean v
b) R
c) ufaq »

gL
e) 70 & &K 7

88. T 2 St Hepd 3N pa @ g B

R s R e ¥
a) qqEn

b) 3v®  rp

c) faesft v -
) T

e) ¥ ¥ Fid 7

89. FHABA EI A2 7
LAY aft fele sarl 1 fireme wnele wea
EEICIE
b) it @ a9y gran 2 50

90. fr=ffaa # @ a1y Wk FaTgd |
a) IFTFR

P
C) JFH
d) Sueie

e) 378 ¥ 1 T

91. ‘afew’ yee H A TR B ?

a) § P

b al ¥
- ¢) fem

Af 51

e) 3T & @IS T

92, ‘g-ama’ wed ¥ i I B 7
aifem
b) @

Vs

d) ™

e) W & ig T

93. fr=ifha 4wy 1 agwa w9 R

a) AN
c) sRrwm R s Yo A 1
Q) FRATD TGN e 9 K
. g
e) T & T T o) Tt & = 7
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94. ﬁw%fﬁaﬁﬁmh-mmaﬁmﬁm 98. U =1 agae TE 2
AR () 78 R 7
2w a) well B
b) & b) T &0
o5 o) o 34
d) =
ey e A s B
95. “‘gren I SR F s ¥ T e) 3T q F1E T
Fed g ?
a) SeR-Foa 99. frerfuifiad i @ - 78 Heidl T
ey q-S  wmAR
c) frtsfim
a) &
d) -1 %
e) ¥ q I T b) 13
(96) Fraferfim 1 & g T PR | ¢) I
a) W T SR d d)
b) A FMH T TME >
&) T HraEe = w5 R R &) T
@12
d) foreft +ft et =it 91 & (100)) Freafeim 3 & weteat s |
&) v 8w 7 | -
YT w
97. “‘swu’’ w1 TS 1™
b) <&s
_a)y g
b) s c) ufew
c) I o) @m :
d) TIREIA oy
e) T q w T e) T8 A FE T
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INSTRUCTIONS REGARDING METHOD

i 5 wraeet fdw
OF ANSWERING QUESTIONS _ 4 S
(Please use Black Ball Point Pen Only) (S <hTet AT WigUe U ShT 1 ST )
1. 1l\flethod of Marking Answer : 1. I S T AT
O give an answer, please darken . . AR
one bubble out of the given five, in I EA % T AL, I q
the OtMR Answer Sheet against that wrafeEd o & oo H e T i e |
ue ]
question. Y STl Th 7Tl <Y O ST I |
2. Valuation Procedure :
e . .
2. HedTehd UG :

There are five answers to a question,
only one of them is correct/nearly
correct. 02 marks will be awarded for
each correct/nearly correct answer
and 01 mark will be deducted for
- €ach wrong answer. If more than one
bubble are darkened fora question, it
will be treated as wrong answer.

Tedeh W % uiw gewfad I §, I
A wh I A/ W R W F
HEt /T Bl 3 3ifeRd A | 02 3w
e g 99T e I AfhRd W W
01 3idh reT SIRATY | AT T A 9T T
el ford STt & Y 9 T SR AT S |

Handing over of Answer Sheet to 3. I-Yite terer sl |l ;
Invigilator : '

(i) Please ensure that all the entries in

the Answer Sheet are filled up -

(i) e F IM-vie A F wgd
ghifraa =X o T Iw-3fie & =i

properly i.e. Name, Roll No., 7= R wef) gfdan S M, Jef-TR,
Signature, Question Booklet No. TG, TRA-GIEaeh! o1 T,
ete. - feffcemwds-dsami

(i) Before the limitation of 2 Hours
duration while leaving the (i) 250 <t g de & g e g
examination hall, hand over the B TT Tw-93 et o I 5
| (e STTIF gaN A qE W

question paper to the invigilator. If
needed, after duration of period, TSI Shes e § ST Y -9F 919E

you can ask for your question T T |
paper from the Centre
Superintendent.

4. IW-Yte & Iuam & graur
I~z 1 TAT Fd THI T qE@ |
qragT T | T A, Higd A1 Heae
TG EIEIAEH S |

4. CareinHandling the Answer Sheet:
While using Answer Sheet adequate
care should be taken about tear or
- spoil due to folds or wrinkles.
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